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Assiut University
Faculty of Science

First Semester Final Examination
i (21 January 2019) 0

Subject: English Language I Code: 015UR

»

Students: Level One Time Allowed: 2 hours
I- Identify the topic sentence in the following paragraph: (4 Marks)

It weighs less than three pounds and is hardly more interesting to look at than an overly
ripe cauliflower. Nevertheless, the human brain is the most mysterious and complex
object on Earth. It has created poetry and music, planned and executed horrific wars, and
devised intricate scientific theories. It thinks and dreams, plots and schemes, and easily
holds more information than all the libraries on Earth.

II- Read the following passage then answer the questions below: (24 Marks)

Butterflies are among the most extensively studied insects—an estimated 90 percent
of the world's species have scientific names. As a consequence, they are perhaps the best
group of insects for examining patterns of terrestrial biotic diversity and distribution.
Butterflies also have a favorable image with the general public. Hence, they are an
excellent group for communicating information on science and conservation issues such
as diversity.

Perhaps the aspect of butterfly diversity that has received the most attention over
the past century is the striking difference in species richness between tropical and
temperate regions. For example, in 1875 one biologist pointed out the diversity of
butterflies in the Amazon when he mentioned that about 700 species were found within
an hour's walk, whereas the total number found on the British islands did not exceed 66,
and the whole of Europe supported only 321. This early comparison of tropical and
temperate butterfly richness has been well confirmed.

A general theory of diversity would have to predict not only this difference between
temperate and tropical zones, but also patterns within each region, and how these
patterns vary among different animal and plant groups. However, for butterflies, variation
of species richness within temperate or tropical regions, rather man between them, is
poorly understood. Indeed, comparisons of numbers of species among the Amazon basin,
tropical Asia, and Africa are still mostly "personal communication" citations, even for
vertebrates, In other words, unlike comparison between temperate and tropical areas,
these patterns are still in the documentation phase. In documenting geographical
variation in butterfly diversity, some arbitrary, practical decisions are made. Diversity,
number of species, and species richness are used synonymously; little is known about the
evenness of butterfly distribution. The New World butterflies make up the preponderance
of examples because they are the most familiar species. It is hoped that by focusing on
them, the errors generated by imperfect and incomplete taxonomy will be minimized.

1. Which aspect of butterflies does the passage mainly discuss?
(A) Their variety (B) Their physical characteristics (C) Their names

2. The word "consequence" in paragraph 1 closest in meaning to

(A) explanation (B) result (C) requirement

(Please go to the back of this sheet)
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(Page Two)

3. Butterflies are a good example for communicating information about conservation
issues because they .

(A) are viewed positively by people (B) are simple in structure

(C) are found mainly in temperate climates :

4. The word "striking" in paragraph 2 is closest in meaning to
(A) physical (B) noticeable (C) confusing

5. The word "exceed" in paragraph 2 is closest in meaning to
(A) go beyond (B) allow (C) come close to

6. All of the following are mentioned as being important parts of a general theory of
diversity EXCEPT

(A) differences between temperate and tropical zones

(B) migration among temperate and tropical zones

(C) patterns of distribution of species in each region

7. The author mentions tropical Asia in paragraph 3 as an example of a location where
(A) a general theory of butterfly diversity has not yet been firmly established

(B) butterfly behavior varies with climate

(C) butterflies are affected by human populations

8. The word "generated" in paragraph 3 is closest in meaning to

(A) requested (B) caused (C) estimated
III- Choose the correct answer: (16 Marks)
1. The serving bowl or the plates .............. on that shelf.

a) go b) goes c) are going d) went
2. He was born ........... December 23. -

a) in b) on c) at d) of
EC R a cold morning.

a) It’s b) Its c) He’s d) Is
4. Please give it to John or ...............

a) I b) me c) myself d) mine
5. Roses smell...............

a) sweet b) sweetly c) sweeter d) sweetest
6. Thisis the ............. oil spill I have ever seen.

a) bad b} worst c) worse d) worser
7. You can’t just walk ............ the house without knocking.

a) into b) in c) inside d) to

8. Which of the following sentences is clearly and correctly written?
a) There are some revisions which must be made. b) Please make some revisions.
¢) Some revisions must be made. d) There are some revisions made.

IV- Translate the following sentences into Arabic: (6 Marks)
1) There is a great difference between terrorism and national resistance.

2) Five members voted in favour of the draft law.

(Best Wishes)
Main Examiner:
Dr. Sherin Abdel Ghaffar
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= Assiut University Final Exam Date :27/12/2018 g
| E&‘ 5] Faculty of Science Introduction to computer Level: first ‘ v;g "
=L Mathematics Dept. Code: (100MC) Time: 2 Hour .

Answer the following questions: (50 Marks)

Question 1: ' |
. Choose the correct answer and write it in the answer table: (20 Marks)
1. Letx=[2516]. How can we compute the [23 51 6§]?

[a) x*x*x () x./3 ~ [ox3 [d) x.2 7]
2. Given the matrix A = [157;264;3 8 2], which value is referenced by A(1,:)?
[2)8 D) [157] ) [1 23] [d) 1 ]
3. Which Matlab command is used to repeat a set of commands with number of times.
| a) while | b) for | o)if | d) disp |
4. If we have information with size 5 nibble, what is equivalent size in bits?
J a) 40 b) 15 ¢) 20 d) No relation
5. When we use the selection, the algorithm is considered as
B) sequence b) loop ¢)branching d)other
6. occurs when the rules of programs are violated
La) syntax error b) run-time errors ¢) logic error d)a,b
7. Which Matlab command is used to print the oGtput .
| a) print |b)ydisp | o)if | ) for |
8. The (3AD) ¢ is equivalents to (.. )8
| a) 1654 | b) 1655 | ¢) 1645 | d) 1630 |
9. Which Matlab commands create a vector of the even whole numbers between 11 and 35.
la) 11:2:34 | b) 12:2:35 |c)12,14,... 34 | d) 11:2:35 ]
10. The (364) ¢ is equivalent to (...).
La) 154 | b) F4 | ¢) 153 | d) 3F ]
11. The result of (356)s+ (467)s is equivalent to decimal number....
a) 1045 b) 813 | c) 549 d) 823
12.Which Matlab command is used to execute a set of commands under specified condition
a) for b) if ' c) disp d) a,b
13.How many times the for loop executed?
SUM =3;
for i=1:2:10
SUM = SUM + i;
1=1i+2;



end

a) 3 times b) 4 times c) 5times d) 6 times
14.The result of (1573)5+(377)g 18 -...... , |

a) 2172 b) 1950 c) 2072 d) 1850
15.The binary number 1101010.1101 equivalents to octal number

a) 152.15 b) 152.64 c) 651.64 d) 651.15
16.What is the value of b, where x=[1 5 10 9]; b=find(x>2) b=.........

a) [5 10 9] b) [2 3 4] c) [0111] d)[1110]
17........ returns the summation of each row of matrix A

a) sum(A,[],2) b) sum(A,2) c) sum(A) d) sum(A,1)
18.... refers to elements in the second row through the third with any column of matrix A

a) A(2:3,) b) A(:,2:3) c) A(2:3,1:2) d) A(1:3,)
19.... returns the minimum for each row of matrix A

a) min(A,[],2) b)min(A,2) ¢) min(A) d) min(A,1)

20.The octal number (757)g equivalents to binary number......

a) 110110111

b)111101111

¢) 01110101

d) 10011011

Answer Table

Question 1 2 3 4 5 6 7 8 9 10
Answer
Question 11 12 13 14 15 16 17 18 19 20
Answer

Question 2:

Write the output of the following blocks of code: (10 Marks)

No Code Output

L \for i=3:-1: 0 '
disp (i*2)
end
2

- lc='computer';
for i=1:2:6

disp(c(i));
end

3.1A=[12 3 5};
X=A."2;
Y=mod(X,5);
disp(X,Y);

214




4. |function Sum = fr(a)
Sum =5;
ifa>=1
fori=1:3
Sum = Sum-+i;
end
end

(Hint: put a=1 in the code )

5fori=1:2

| for j=1:3
a(i) = i+j;

end

end

disp(a)

Question 3:

Underline the error in each block of code below and correct it:

(10 Marks)

No Code

Correction

L. | x=0;total=0;

if (x <= 100);
total =total+ x;
x=x+1;

2. 1x=0;

for x =1:2:100
x=x-+i;

end

function (output) = f[x];
output = 7;
end

x=0;
for i=100;2;2
x=x+i;

>>x=[1356];
>>y=[9111];
>> x*y




Question 4:

Werite an algorithm and draw a flowchart to compute: (10 Marks)
Se1txetsl e
= x4 273 R T
Beot Wiskes

Dn., laa Fakim and Dr. Wokamed Mustafa Danasish
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